Halcyon #A193
Shawl




how. to

make

MEASUREMENTS
Width (approx) om 174
Dq:ﬂll{ippm] cm gl
YARM REQUIRED
Lincraft Cotton d4ply 50g balk
15t Colour (Clsgrey)y E]
Ind Eedour (£2-liner) 2
3rd Colowr (C3- cream) 2
CROCHET HOOK

A 3.50mm erochet hook.
REQUIREMENTS

ool needle for sewing in ends.

TENSION
Tersion is nat important for this project.

DEFFICULTY e

SHAMNL

Using 3.50mem hook and £1, make Sch and 5l st into
first ch to form & ring.

151 rowwi: dch (starss s derd, imto ning work 3t dech,
34r, 1dtr, tarn.

Ind row: dch (stands as dir), 2tr bebeveen dir and
first tr, [3tr, 4ch, 31r) indch sp, [3ar, 1dtr] in sp after
last tr, tum,

Ard rodd dch (stands ax dtr), 31r between dtr and
first tr, 3tr in sp between I groups of 3, [3tr, 4<h,
3ur] in 4ok sp, 317 in sp betwesn I groups of 2, [
Adtr] im s after last tr, turn

dth rovws dch (staneds o ditrd, 3ir between dir amd
first tr, 3tr in sp bebaeen I groups of 3, 4ch, 3tr

in 3p between 2 groups of 3ir, [ 3, 4ch, 3tr) indch
3. Mr insp between 2 groups of 3tr, deh, 3rinsp
between & groups of 3r, [3tr, 1dtr] in sp after last
fr, turn.

Sthirow: dch {stamnds ax dir), 3ir betweeen dir ard
first tr, ¥er in sp between ¥ groups of Y. Btr in dch
sp. ¥r in sp between 2 groups of 3tr, [, &ch, 3] im
dch sp, 317 in sp betweeen 2 groups of 3tr, 2trin 4ch
ip. 1 in sp between 2 groups of 3, [ 3, Ldir] insp
after et i, tum.

Lincraft

&TH rew: Ach (stands s dir). ¥tr between dir and
first er, 3tr in sp between } groups of 3tr, mies It 1
picet im each of next Bir, miss 3tr, 34 in sp between
I groups of r, [31r, dcly. Fir] in dch sp, 3ar insp
between @ groups of Str, miss Ytr, 1 picot in each of
mext Btr, miss Itr, 3tr in sp between I groups of 3,
[ 3tr, 1chtr] in sp after last tr, turn.

Rerws 4 to & generate 1 ‘shell’ either ude of centre

jpanel,

Tk rewh Sch (stands a5 dir). Yer between dir and
first &r, Jir in sp between } groups of 3, mis 3t e
in ap between 3ir and first picot, [3ch, més 2 picats,
1tr in s before next picot] 4 times, 3tr in sp Between
2 groups of 3tr, [3tr, 4chy, 31r] in dch sp, 3t insp
between 2 growps of 3tr, miss 3tr, 1tr in 5p between
Tir and first picot, [ 3ch, mia 2 picots. 107 in sp before
mext picot] 4 times. miss 3tr, 3r inosp between I
groups of Y, [3tr, 1der] in sp after last tr, tum.

Bth row: 4ch (stands as dir), 3tr between dir and
first &, 30r in sp between I growps of Btr, Ttrin Ind
f 3tr, [4ch, 1dc im 2nd of 3ch] 4 times, dch, 1trin
Ind of 315, 317 in sp between 2 groups of 3tr, [,
4ch, 3tr] in 4ch sp, 31r insp between 2 groups of

Ftr, mina Aer. 107 in next 1 [deh, dck in 2ned of Bch]

4 times, dch, 1trin Ind of 3r. ¥r in sp between 2
groups of Yt [3tr, 1der] in sp after ket tr, tum,

Sth row: 4ch (stands as dix), 3tr between dir and
first &, 30r in sp between I groups of Btr, min din,
Etr in dch sp. 1dc in next dch sp, [Jch, 1dcin next
dch 3p] tavice, Bir in next dch sp, miss 4tr, 3tr in sp
between 2 groups of 3r, [31r, 4ch, 3] incdch sp, 3tr
in s between & groups of 31r. miss dtr, Strin net
ach sp. 1de in next dch sp, [Jch, 1dc in next dch sp]
bevice, Bir in next dch sp, miss &tr, 3trin sp betwesn
2 groups of 3r, [3ir, 1dtr] in sp afber last tr, furm.
A0ith pow: dch (stands as died, 3t between dir and
first r, 3tr in sp between I growps of ¥, mins B,

1 picot in each of next Btr, 1dc innext 3ch sp, dch,
1de i nexct 3chosp, 1 picet ineach of next 811, miss
r, Berin 3p between I groups of T [ deh, 3]
n dch =p, 5t in sp between 2 groups of 3r, miss I,
1 picot in each of next Btr, 1dc in next 3chosp, dch,
1dc mnexct 3ch sp. 1 picet i each of next Bir, miss
e, 3er in sp between I groups of Jie (3t 1du] insp
after Lt tr, furn

Rorwes ¥ to 10 generate 2 'shells’ either side of certre

panel.
Change 10 €2
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1hth row: dch (stands aa dir), 37 between dir ard
first tr, 3tr in 3p between 2 groups of Mo miss 3n Qe
in 3p between 3tr and first picot, [ ¥ch, miss 2 picots,
1t in sp before next picot] 4 times, miss dch, 1trin
3p between de amd first picot, [ 2ch, miss 2 pioots,
1lr'in|pbd'ur|.-ne:l picat] 4 trmes. mis 3, M in
3p beteveen 2 groups of S, [Jr dch, Jor] indchosp,
3 in sp between } groups of 3tr, miss 3, 1trinsgp
betwesn 3tr and first picot, [3ch, mes 2 picots, 1t
in 3p before next picot] 4 times, mise 4ch, 1t in g
between de and first pacos, [3ch, miss 2 picots. 1tr
in 3p before nexct picot] 4 times, miss 3tr, 3% in sp
between 2 groups of 3tr, [3tr, 1dtr] in sp afeer lact
. turn.

1Xth rows dch (stands as dir), T between dir and
first tr, 3tr in sp between I groups of 3tr, Ttrin Ind
of 31r, [4<h, 1dc in 2red of 2ch] & times, £ch, 1trin
2rd of 3tr, 3r in yp between 1 growps of o, [
dcly, 3tr] in dch sp. 317 in sp between 2 groups of T
ity in 2nd of 3tv, [#ch, 1dc im dnd of 3ch] & temes,
dch, 1tr in 2nd of 3tv, 3tr in sp between 2 groups of
At [ 3tr, Tdtr] inoip after Lt b turne

1¥th row: dch {stands as dir), o between dir and
first tr, 3tr in sp between I groups of 3tr, miss dar.
[84r in dch sp, 1dcin next 4chsp, {3ch, Ldc in next
Al iph twice] twice. Btr = next dch sp, mis e Ber
in 3p between 2 groups of S, [ M. dch, Str] indch
sp. Hr i sp between 2 groups of 3tr, miss &tr, [Ber
in mext 4ch ap, 1de in next 4ch sp, {2ch, 1de in met
hllw}hﬁllm&rhm!l*m mins 445 tr
in 3p between 2 groups of Str, [ 3. 1dtr] in sp after
last tr, fusm

1ath row: dch (vtands o dir), 3or bebaeen dir and
first tr, Ber in sp between I groups of 1 mas 3n 1
picot in each of next &tr, 1dc in next 3ch sp, deh, 1de
innext 3ch sp] twice. 1 picot in each of next tr, miss
Ay, 3tr in 5p berween 2 groups of 3ur, [, 4ch, 3tr)
ir deeh 3p. FEr in i between 2 groups of 3r. miss Bir,
i plitulinuthufmth.id:h reexct 3ch sp, dech,
1k in mext 3ch sp] twice, 1 picot in each of next Str,
miss 3tr, 3trin sp between 2 groups of 3, [3tr, 1dtr]
in wp after last tr, turm

Fows 11 1o 14 generate § 'thelly either side of centre

panel.

Fows 15 to 18: Reprows 11 to 14 but generate 4
“shells” erther sade of centre panel.

Change to C3.

Rowes 19 to 11 Rep rows 11 to 14 but gererate 5
“sheells’ either sade of centre panel.

Lincraft

Rows I3 to 26: Rep rows 11 to 14 but generate &
‘thell’ either side of centre panel,

Change to €1

Rowd I7 to 30 Bep rows 11 o 14 but generate 7
‘thell” either side of centre pansl.

Row 1 to 3d: Rep rows 11 %0 14 but generste 8
‘shell’ either side of centre panel.

Change to C2.




